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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.

Detail schedule for submission of assignment for the
BDP Term End Examination December-2019 & June-2020

1. Date of Publication : 14/02/2020

2. Last date of Submission of answer script by the student to the study :07/03/2020
centre

3. Last date of Submission of marks by the examiner to the study centre : 08/04 /2020

4. Date of evaluated answer scripts distribution by the study centre to

the students (Students are advised to check their assignment marks
on the evaluated answer scripts and marks lists in the study centre
notice board. If there is any mismatch / any other problems of marks
obtained and marks in the list, the students should report to their
study centre Co-ordinator on spot for correction. The study centre is
advised to send the corrected marks, if any, to the COE office within
five days. No change / correction of assignment marks will be

accepted after the said five days. :18/04/2020
S. Last date of submission of marks by the study centre to the
Department of C.O.E. on or before :20/04 /2020
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Answer any two questions :

1. a)

b)

b)

b)

()= —L S[orwod 2T (Range) T S | 3

T 2+cosdx
1

Find the range of the function f(x)= ST cosdx

TG T T ¢ f(x)= | x|+ | x-1]. 3
Draw the graph of f(x)=|x|+]|x-1].
M f(x)=3x, T -3<x<0

=-3x,349 0<x<6,2F

OE@ (R (@ x = 0 0o ol 79 6% x = 0 oo aft swaesma@nsy F71 2+ 2
For the function
f(x)=3x for -3<x<0

=-3x for 0<x<6,
show that it is continuous at x = O but not differentiable at x = O.

flx)=tanx @I n GG LB 2oL | Leibnitz-G S0 R 2 F (T,

fn(O)_n Can_Q (0)+n C4fn—4(0)_,,,=sin(n%). 5

f(x)=tanx and nis a positive integer. Prove by Leibnitz's theorem,
)= Cof" 2 (0)+" Cu fH0) - = sin(ngj .

1
flx)=xX, x> 0 ACEFIH IR FE ™ 8 1€ -aF V& (AL ITeF el T2 | 5

1
Using the function f(x)=x*, x>0, determine the greater of the two numbers e”"

and =€.

BT (Cauchy)-F T ST KT BEA 1 f(x) = x(x - 1)(x - 2) G q = o,b:% Gl

T T2 £ (b)- f(a)=(b-a)f' (£), a<&<b Ao T 7R AT B 3 |

I BET & a7 W T 3 | 2+3

State Cauchy's Mean Value Theorem. Discuss the applicability of M.V.Th.

fb)-fl@)=b-af' @), a<t<b for f(x)=x(x-1)(x-2),a=0b=1

and find ¢, if the theorem be applicable.

. lim e*-e*-2x
T ey e T S 5

lim e*-—e™*-2x

Evaluate : -
x—=>0 x-sinx
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-1 x+y oV oV
. I v = ——=— 3J OK PPV x——+y——
4 a) V =2cos ‘/;4_‘/5 7 AN xsoty oy + cot
If V=2cos 1 —2Y_  show that x2 +y &V 4 cotL =0,
2cos ‘/;+‘/g,s ow t atxax+yay+cot2 0

b) u=f(xy) 9R x=rcosO, y=rsind IET AT I -

(5 o (&) (5 (&)
ox oy or 2\00) -

If u=f(x,y) and x=rcosO, y=rsin6, prove that

(5 4 (3] (5 3(%)
ox oy or 2\00) -

B.Sc.-AU-16125

|4
=—=0. S
5 0

29 T€d / First Answer :
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Answer any three questions :

n n

p=xcosa+ysina TAGIG [g)EJ{%}”‘l _ 1 IR o FIET o T2 @,

p"t =(acosa) + (bsina)" . 6
n n

If the line p= xcosoa+ysina touches the curve (%] n-1, (%)n_l =1, then prove that

p" =(acoso)? +(bsina)™ .

2 2
AT FET x_2+y_2=1 ToRebd @b FIfSa IAICF (orele NP9 (pedal equation)
a

sy

b2 _2a_

p

2r1' 6

2 2
Show that the pedal equation of the ellipse x—2+y—=1, with respect to a focus is

a b2
b2 2a

—==-1.
p2 r

AN TN ([ ax® +by° =1 @R xS +b'y° =1 IGEAET T2 THOR@ (WM PR W
ad'(b-b)/3 +bb'(a-a')*/3 =0 =W 6
Prove that the curves ax® +by° =1 and a'x° +b'y> =1 will cut orthogonally if
ad'(b-b)/3 +bb'a-a*/3 =0.

X2 - g2
T f(x,y)=xy.2—,‘€f’ﬁf x#0 W y=0
xX“+y

=0, W x=0,y=0 XF

o°f  9°%f
wefmcfwm(o,mﬁwaxay;eayax. 6

X2 y?
If f(x,y)=xy.ﬁ,when x#20 or y#£0
x“+y
=0, when x=0,y=0,
O’f , &°f
T 9x0y  dyox’

show that at (0, 0)

2x(y - 5)2 = 3(y - 2)(x - 1)? IG@NTHT TN siqefew FNwqe [efxr w67 | 6
Find the asymptotes of 2x(y — 5)2 =3y -2)(x- 1)2 .
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10. §+%=1 TR AR AN ol 9 @A a2 + b2 =c2 | ¢ aF6 &7 |

6
Find the envelope of the straight lines §+

o<

=1 where a2 + b2 = c2, cis a constant.

A TE€d / First Answer :
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-] B 2T Ted fuey ¢ 3x4=12

Answer any four questions :

11.

12.

13.

14.

15.

16.

17.

18.

lim x(l+acosx)-bsinx

a8 b-ag A fefy = AW & = =1 2| 3
. lim x(l+acosx)-bsinx _

Find aandbsothatx_)O 3 =1.

y-x=x2+2xy+y? I@@HI TR (0 0 )-cS I@9 [P Felx 7 | 3

Find the radius of curvature at the origin, (0 0 ), of the curve y—x= x2 + 2xy + y2 .

9x? +25y? = 225 TRl To @ R (4, 0 ) Rfox Favow, o fefx e | 3

Find the coordinates of the point on the ellipse 9x2 + 25y2 =225, which is nearest to the

point (4, 0).
AT FFH (X y = (x—a)e™ ¢ ITEAR G SAEFT [{Y (a—2,-2¢72). 3
Prove that (a — 2,—26_2) is a point of inflexion of the curve y = (x—a)e* ¢.
SIIT P (T -G T AAIQIP FET & log (5 +x) > fx : 3
Prove that log (5 + x) > =, for all x > 0.

S+x
y=x+% IGTRATA (2, 4 ) Reqes a@oRTEs Flwae ey w6 | 3

Find the equation of the circle of curvature of the curve y = x + 2 at the point ( 2, 4).
X

%+%=1W2xy—tﬂﬁWWﬁcf§IW| 3
If §+ % =1, find the maximum value of 2xy .

by? = (x+a)} ITEIF @ @I RYTS & T4

(oo i ) 2 o (Tof-wifeetoaa o) 3

Show that for the curve by2=(x+a)3, the square of the subtangent varies as the

subnormal.
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